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log(L* 22/L* 22,u) normierte TUBJ22-Helligkeit
log(L* 22 / L* 22,u)
normierte CIELAB-Helligkeit
log( L*/L* u)

L*/L* u

log[(L* 22)/(L* 22,u)]=0, mu=0,43

L* 22,u=342, Yu=18

TUBJ22 und CIELAB -Helligkeit

L* 22 =
ln[1 + A2 Y]

A1 A2
=

ln[1 + A2u(Y/Yu)]
A1 A2u

A1=0,0170, A2=0,3343, A2u=5,391, Yu=18

L*  = 116 (Y/Yn)1/3− 16   (Yn=100, 1 ≤ Y ≤ 100)

Anwendungs-
bereich
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log(L* 23/L* 23,u) normierte TUBJ23-Helligkeit
log(L* 23 / L* 23,u)
normierte CIELAB-Helligkeit
log( L*/L* u)

L*/L* u

log[(L* 23)/(L* 23,u)]=0, mu=1,57

L* 23,u=2032, Yu=18

TUBJ23 und CIELAB -Helligkeit

L* 23=
[1+A2 Y](A3+1)

A1 A2 (A3+1)
=

[1+A2u(Y/Yu)](A3+1)

A1 A2u (A3+1)
A1=0,0251, A2=0,1566, A3=1,1070, Yu=18

L*  = 116 (Y/Yn)1/3− 16   (Yn=100, 1 ≤ Y ≤ 100)

Anwendungs-
bereich
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log[(Y/∆Y) / (Y/∆Y)u] CIE Y-Kontrast
normiert für ( Y/∆Y)u
TUBJ22 & CIELAB

Cr /Cru=(Y/∆Y)/(Y/∆Y)u

mu+=
0,13

mu−=0,14

log[(Y/dY)u/(Y/dY)u]=0, mu=0,33
L* u=50, Yu=18, dYu=0,83, (Y/dYu)=22

A1=0,0170, A2=0,3343
A2u=5,391, Yu=18normierter TUBJ22-Kontrast

log[(Y/dY)/(Y/dY)u] = [(1+A2u) (Y/Yu)] / [1+A2u(Y/Yu)]

normierter CIELAB-Kontrast

log[(Y/dY)/(Y/dY)u] = (1/3) log [(Y/dYu)]

Anwendungs-
bereich
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log[(Y/∆Y) / (Y/∆Y)u] CIE Y-Kontrast
normiert für ( Y/∆Y)u
TUBJ23 & CIELAB

Cr /Cru=(Y/∆Y)/(Y/∆Y)u

mu+=
0,17

mu−=0,19

log[(Y/dY)u/(Y/dY)u]=0, mu=0,33
L* u=50, Yu=18, dYu=0,83, (Y/dYu)=22

A2=0,1566, A2u=2,778
A3=1,107, Yu=18normierter TUBJ23-Kontrast

[(Y/dY)/(Y/dY)u] = {[Y/Yu][1+A2u]A3} / {[1+A2Y]A3}

normierter CIELAB-Kontrast

log[(Y/dY)/(Y/dY)u] = (1/3) log [(Y/dYu)]

Anwendungs-
bereich


